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Section : General Intelligence and Reasoning

Q1 giRRLxMPTAIRfP L MBIAMIR, L-MBTAS L, MBTRA ], L= mBT 3RS &
?L, M B T84 8, ai Frafiafad § & S5 a1 sivie 98 fefd sxai @, fP R, P 1 HIE
?

Ans X 1.P+Q-R
& 2.P+R-Q
X 3.P+RxQ
X 4PxR-Q

Question ID : 264330104971
Status : Not Answered
Chosen Option : --

Q.2 Tty gl & 39 Y6 U &1 79 S o $ie TU A« F ™M WITA R
e ar oo Tgfera 8 srem|
1%3*11*2*9=10

Ans X 1.x = + -

K25 %, -+
v)3.x’+,—,+
K4+ + - x

Question ID : 26433068603
Status : Answered
Chosen Option : 3

Q3 3y fRmed el o1 9o S o < e e o) I Hm R E0 E i es € il S
HAHA AR )1

-1

Ans
v @

Question ID : 26433068902
Status : Answered
Chosen Option : 1




Q4 I e o1 99 PN & TN g A 3 UoR Fiftra & R ToR goRT g ugat
TTeg | WAt @1 (Rreat Bt erfyuf & =gt & = u H A S Uity ok g o
SERY/SEHTIGR) BT YWAT & ATYR R TH go¥ § Gafira 7Y foran sm Tnfgg)
Sﬂ?r:‘l{ﬁf::ﬂq:?

Ans X 1. TgISl

X 2. Hier e
X 3. FeEt

4. T

Question ID : 26433067818
Status : Answered
Chosen Option : 3

Q5 ABHTAYRfF ‘A BB TA B
A#BHT IS fp A BRI
A@B®HTAEfF A BFITIR
A% BHT Y fH A BHTU
A+BHTASEF A BB AR
YEALGB#CE&D@E%F +G & dA, D fh UeR Hafta 82

Ans X 1.4
2.9
< 3. 987
X 4.§g

Question ID : 26433065966
Status : Not Answered
Chosen Option : --

Q.6 I faeq &1 TUF Y, St T Teg A I UPR &Y 8, oI UPR goRT Tea, Ug
Teg | Tafta @1 (Rreal B srfyuf & wrsgt & =0 F A S TR SR Weal B I
3&RY P TRBAT / AT B TBT / TR P BT & YR W TP go A Hafera =81 fopar
EisiE )

T : Fadhar ;: ;2

Ans X' 1. FY HAT

X 2. faes
o 3. R

X 4.cu1q

Question ID : 26433056589
Status : Answered
Chosen Option : 3

Q7 gfnwﬂﬁﬁammaﬁaﬁwmﬁw,mﬁ@aﬁﬁﬁqmmﬂﬁqﬁ

— YT+, 8 AUT 2
L5+47-8x4+2=9
.3+8x4-2+1=3

Ans X 1. %adll
X Agiaa
3. Had |
X 4. 1At

Question ID : 264330105146
Status : Answered
Chosen Option : 1




Q.8 TEmsl ¥ fun Wig &1 9= Y| (W 3 GBS B ITH Jued il | fyuria frg
T, gof wemasit w fpant fArefed &t ol Tnfde | Serevur *13" - 13 W Hihart o9
% 13 ® SisA/aeHIATUT HeAT 31fe far S w@Har 31 13 &1 18R 3 § dis ok ok
57 1 3R 3 W TKfrT wfpaTd St @t srgafa w1E B)

Ans 2 1.14-208
X 2.16-266
X 3.18-334
X 4.12 154

Question ID : 264330105086
Status : Answered
Chosen Option : 1

Q.9 3 fRu U vy ¥ 5 YA 3R ITd 915 34 HYAI W TURd o fHepd faw e §1 fa
T HYA B TE AM, U & STH Aaa: J1d 9t § fRrsrar g1 aai ey o ofik e
Fruifea =¥ & F19 § freed, T T ST &1 aifhe TU § AR Hd 81
DY

s

1. $O M, R8I §l
I.$BL, REI
.3 M, LTI

Ans o 1. Had FsH 111 3RO BT B
2 2. 13 1 AT Freap e SieRur R §
X 3.1 1t el SraRur T el 8
2< 4. 11T 11 QT FIseh SR R §

Question ID : 264330104953
Status : Answered
Chosen Option : 2

Q.10 fAU 7T Treql T SIS GBI F AR HARIT HIA & UL, B AT Ueg HY R

TR S{TY?
1. Agenda
2. Agentry
3. Ageism
4. Ageist

5. Agency

Ans 7 1. Agenda
< 2. Agency
X 3. Ageist
< 4. Agentry

Question ID : 264330104904
Status : Answered
Chosen Option : 1

Q.1 fufrfEd IR sieR-Tae o § i forsdt Fifda a8e § JuH € o 39 UPR U Iig
T &1 P9 AT eR-TAo 39 JUE | Yafer 781 872

Ans 7 1.LEB
K 2.JZF
& 3.TJP
< 4.MCl

Question ID : 26433081508
Status : Answered
Chosen Option : 1




Q12 ue & 9 fr DT erET-3eET TRufEAt Fr g g 4 i arer
Folh & [ullg Ges i TEAT AT HIiaT]

PP

Figure 1 Figure 2 Figure 3
Ans X 1.1

X 26
& 3.3
X 4.2

Question ID : 26433069434
Status : Answered
Chosen Option : 3

Q.13 ua fAifda g utaT §, 'FANCY' &t 'ACPEH’ % =1 | forar wirar 8 3R 'TRACTOR® &1
“TTCEVQV’ ¥ ¥ # for@r sirar 21 St HToT # ‘CARROT & $d ferar sirem?

Ans 7 1. VCTTQE
X 2. ECTTQV
& 3.EBTTPV
/< 4. ECTTQT

Question ID : 26433067575
Status : Answered
Chosen Option : 2




Q14 3 e airepfa 1 =10 HITC o €1 s ol () Sy H w0 E vl g € crpfa S e
HAHA AR )1

Ans

x 3.

Question ID : 26433068913
Status : Answered
Chosen Option : 2

Q.15 Fafafad & @ 919 91 sieR-ugg & 7S @en § yufig (?) & R W M
CLPM, FNQN, ?, LRSP, OTTQ

Ans X 1.1PSO
« 2. IPRO
2 3.1QRO
X 4.JPRO

Question ID : 26433059859
Status : Answered
Chosen Option : 2

Q.16 Fafafad ot & uyfes (7) F =M R F149 I T s
10, 15, 25, 45, 85, ?

Ans X 1.150
X 2.170
3. 165
X 4.160

Question ID : 26433067594
Status : Answered
Chosen Option : 3




Q.17 39 fapey &1 99 B3 &l D FEn A IW TeR et g o yeR vgelt T gad
I A 3R yiEdl e TS T’ | WAk gl
11:31::?:25::14:40
Ans X 1.7
& 2.9
% 3.10

< 4.8

Question ID : 26433059932
Status : Answered
Chosen Option : 2

Q.18 3 g FHiteRur &1 Tgferd B & e 5= o wemsit 3k [+ Y fugl & e ggan
m324x9+60-4=630
Ans X 1.43R9, - 3R
o 2.4 3R 24, + 3R +
X 3.264 3R 9, + 3R -
X 4.264 3R 9, + 3R -

Question ID : 26433070244
Status : Answered
Chosen Option : 2

Q.19 39 BT T I Forad T=e oy & S veR waita § o v el
| 5t I=ITE 3 H el g1
(Fite: T B TP ew il | fyurima fry fam, gof wemsit wr nfvrdig wfean #t
ST T1RT | IeTeRvT & g 13 - Kty Tfrane SR % SisAae AN ST 3aifs 13
¥ e &1 Fa1 81 13 BT 1 3R 3 H FAHTRTT S 3R bR 1 3R 3 WR wiforeig wfspame
A B Al T 21

(24, 9, 21)
(34, 16, 33)

Ans X 1.(53,6,34)
X 2.(43,17,41)
< 3.(34,8,28)
& 4. (42,9, 30)

Question ID : 26433074777
Status : Not Answered
Chosen Option : --




Q0 =g 3y o Tow S Fer sTpf-gwer F Al (7) F T W e

o AN
N

Question ID : 26433069143
Status : Answered
Chosen Option : 1

Q.21 39 Iy BT I & ol S T1T & S ypR Haiid 8 O TeR gl Sen uget
Ter | "6t ? ok o3 e uikdl Hen @ Safta 21
76:11::88:?::68:9
Ans X 1.18
& 2. 14
X 3.15

X 4.12

Question ID : 26433067900
Status : Not Answered
Chosen Option : --

Q.22 waa?ﬁnﬁu;gm%,ﬁwﬁwww%lmwﬁmﬁﬁwﬁmﬂﬁwﬁ
|
PMRF, PDZV, PUHL, PLPB, ?

Ans X 1.PCMH
X 2. PQRS
« 3. PCXR
X 4. PHTD

Question ID : 264330104834
Status : Answered
Chosen Option : 3




Q.23 ©a fAfda g UTaT A, 'FACES' ®1'AFCSE’ & =0 A ® forar wirar @ 3R 'JEANS' &t
'EJASN' & U ¥ fraT orar @1 I HTeT § "HANGS' T $4 ferar s

Ans X 1. AHSGN
X 2. AHSNG
« 3. AHNSG
X 4. AHNGS

Question ID : 26433067300
Status : Answered
Chosen Option : 3

Q.24 = fF FY= F a1g A FAewd 1, 1 ok 11 f3E 1T §1 FY= @ I 9 g, wa d
TrT=I: 919 9t ¥ g udia 8 &, 7 3% 1 919 A e aifdes w0 Q sy a1
SRV B B
a;:?: gl
[aft et e
wgmmi
[aft et [
foreep:

1. 3t |e A §
. gaft A e
. $© IRAf The §l
Ans X 1. %ad ey | 3R 1| 3TERU A §

2. $ad By | 3R 111 SFER0 A 7
X 3. @ e SRy v &
X 4. baa FwB ) 3R 111 TR BRA §

Question ID : 26433068828
Status : Answered
Chosen Option : 2




% frv v Redt #F @ 3T PR FT TTT B S oo AFT-o@eT
SeATEd (?) % TUW 9 37T bl 87

O[30 2

Ans

< 1.

B
B
[0
3

Question ID : 26433080517
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 FafifE § @ B @ ey ok e & gafta 87
Ans 1. WS UgIfeat — gdf ure

X 2. AR vttt — ufde are

X 3. foreh werfat - udf are

X 4. UTHTS URISTT — Ui F1e

Question ID : 264330105658
Status : Not Answered
Chosen Option : --

Q.2 PR PIEie, T 3R HIe- SFSHTRIZS BT TUTHAT BT IuTe FT B2
Ans X 1. glEgIRIING 3

X 2. BleRrTH BRGNS

X 3. By sifeags

4. HfRTIH FrRgIoH BT
L4 2

Question ID : 26433086705
Status : Answered
Chosen Option : 3




Q.3 g 2022 H, HRA & IU FTG YT & ¥ | fordt Frgaa fam mam a1
Ans X 1.3 f&aw

o 2. 3R.&. [l

X 3. g ey

X 4. Ra Ry

Question ID : 264330105346
Status : Answered
Chosen Option : 1

Q4 FHYP T RarT S8t &Y 1973 & Fafafay o @ fra Reer @ awnfa fear wr ar?
Ans X' 1. T3] HuUl

2 2. U= faymo

X 3. 9T bl

o 4. T

Question ID : 26433090709
Status : Not Answered
Chosen Option : --

Q.5 fafafad & & Si-a ggm fv & 31 3R I9F freediaRur & FRU = 82
Ans X 1.9O

X 2. 9%
3. 9A15¢
X 4. Pran

Question ID : 26433066508
Status : Answered
Chosen Option : 3

Q.6 3AY W TFAP Toay |y o ary a5t 78 f
Ans X 1.1802

2 2.1804
& 3. 1801
X 4.1803

Question ID : 264330105573
Status : Not Answered
Chosen Option : --

Q.7 1950 | 1990 P 3@l F G ST & HY &1 UIIS TNEH SRE-g U A
[

Ans 3 1. QUL gt
K 2.9q1
X 3. Rr @
& 4.9

Question ID : 26433066637
Status : Answered
Chosen Option : 4




Q.8 HI-RIET A A W AUy deq & forg Frafufaa & & forg urdia T | ot amn 3=

Edid

Ans X' 1. HERIY
X 2.fewR
X 3. 3fifg=m
o 4. ST

Question ID : 264330105191
Status : Answered
Chosen Option : 2

Q.9 3T 2022 % fFH I PR A = Yfigs @l fpar 82
Ans X 1. TdS

2. fufdwn

3. 39

X 4. fER

Question ID : 264330105269
Status : Not Answered
Chosen Option : --

Q.10 FAR A & FHER gevr & Frafafed ¥ & e sndw & warfer giar 32
Ans X 1. PRI GEUT FRIAUT SM1CRT, 2001 (National Print Control Order, 2001)
2 2. IUTER U1 3TART SIS, 2006 (News Print Commission Order, 2006)
« 3. WH—;{WW m 2004 (Newsprint Control Order, 2004)
2 4. T8 U FHEA0T 311, 2003 (National Press Control Order, 2003)

Question ID : 26433089221
Status : Not Answered
Chosen Option : --

Q.1 FrafafEd § d o1 URd § $us Ta 31 ufaues 82
Ans X 1. G HEGR

o 2. TRT T

X 3. Hel B1PR

X 4. 393y

Question ID : 26433054329
Status : Answered
Chosen Option : 2

Q.12 3 A Rewa v3 &Y HRAATRI
Ans p 1.

X 2. g
X 3. AR
X 4. T@rst

Question ID : 264330105477
Status : Answered
Chosen Option : 1




Q.13 ge3 IR vyafes uis e 2022 BT SmaIeH Hel g uT?

Ans X 1.3@IH

o 2.3 H

X 3. gwiga

X 4. ARwE

Question ID : 26433071556
Status : Answered
Chosen Option : 1

Q.14 gHd UTdfHe greT % =0 & oged fordT o1 Fpdr gl

Ans X' 1. GuilTd 49 - 61 °1eT
2. 95 A ASH N HIeT — G TSl aard
X 3. oG ©1eT + Yot o
X 4. Gl IISTBISIT UTeT + Y SIS ST

Question ID : 264330105391
Status : Answered
Chosen Option : 4

Q.15 % IeHAR Rigsa Rig, Sife yRda g algd 7@ o & vga vfaues 8 o
1986 ¥ FFafefEd # ¥ 5y URH ARTR® W= & Jwfera faar mar ure?

Ans ,/1.‘3@%?[
X 2. YRA@
2 3. O faymo
< 4. T 4O

Question ID : 26433074836
Status : Not Answered
Chosen Option : --

Q.16 What type of isomerism exists in compounds containing two or more complexes, each
of which contains a different set of ligands that can in principle be replaced with a
ligand of the other complex?

Ans X 1. Solvate Isomerism
25 2. Linkage isomerism
75 3. lonisation isomerism

«” 4. Coordination isomerism

Question ID : 26433064078
Status : Not Answered
Chosen Option : --

Q.17 T3 YT Rt s Frafifea & @ fre W & wefta 32
Ans 1. SOQR - SR

X 2. @IferR

X 3. fer

X 4. ufearen

Question ID : 26433071520
Status : Answered
Chosen Option : 1




Q.18 YR TfIu™ F siarfa, Tu F srfuRie 1 ddurfres wra T gl
Ans 1 WU

X 2. I R &1 T R

X 3.9y HAt

X 4. ST T Sfeae

Question ID : 26433071504
Status : Answered
Chosen Option : 1

Q.19 TR g A wgTe widt B # wfgemsi ot g # i g #1
Srgafa 3 & forg wreft fasami
Ans X 1. YRd BIS! 3fiaiad

72X 2. 9URU qAWE
« 3. D A8
X 4. 3TGTNT 3G

Question ID : 26433085297
Status : Answered
Chosen Option : 3

Q.20 YRA F AU BT P A TG & F AUPR B Wi feR F Fu & wr=gan
W& Ha1 872

Ans X 1. 3f®5G 300A
2 2. 3J®G 33
X 3. 3 @G 20
o 4. 3G 21A

Question ID : 26433074897
Status : Answered
Chosen Option : 4

% 1 B T T $H i (303 K) aTell Th A UTg § 3R 10 =4 F Sift
3R TIRRER S SI-3aRIT aTa SUFRVI & IauTe | SUANT T wirar 82

Ans X 1. TgHEE
X 2. Aferm
& 3. ey
X 4.9RME

Question ID : 26433064092
Status : Answered
Chosen Option : 4

Q.22 RyuRd Ry ¥ dwiae fFafaEa § #4932
Ans X 1.9 gReATd

X 2. @l faderig

o 3. Ay TR

X 4. vc Hig Hied g

Question ID : 26433089149
Status : Answered
Chosen Option : 3




Q.23 7$ 2022 B Ffig Areafie Rign NS (CBSE) & siwe & w0 A fHa fgea fvar mar 82

Ans X 1. Ffer 0
2. A fesR
X 3. IS THT
X 4. oty s
Question ID :
Status :

Chosen Option :

264330105326
Answered
2

Q.24 YSfRTE Y@ HRA B! b ¢ A 3rervT St 272

Ans X 1. 9UTd
7 2. SeeRr
o« 3. Ul
X4 9=
Question ID :
Status :

Chosen Option :

264330105520
Answered
3

Q.25 fogferfad # @ fora e @1 Jdy SeficT 4 82

Ans X 1. W@ &=
X 2. e Tl
3. &. fiwid
7 4. 3T BHA
Question ID :
Status :

Chosen Option :

26433071536
Answered
3

Section : Quantitative Aptitude

Q.1

X+ dy? + dy - dxy - 2x - 8 & UGS TH T FA-F &2
At vt (x=2y-4) (x-2%+2)
X2 (x% -2y -ay(xPn2y +2)
X3 (x+2y A4) (X 2y+ 2)

X4 (242y=4) (X —2y+2)

Question ID

1 26433076065
Status : Not Answered
Chosen Option : --

Q.2 §m g 3R 10 m frde Sars arat U oa 9919 X & a9 Yg BT QT R 22
AN v om m?

72 40 m?

X3 40m m?

X4 60 m>

Question ID : 26433065308
Status : Answered
Chosen Option : 1




@3 ABCD v = ¥ 3 AMAB v FHaTg fgsr 1 MC 3R MD 33 gv &
£MDC T 3 A fhaar gem?

M

Ans 7 1.75°

X 2.65°
< 3.60°
X 4.78°

Question ID : 26433080251
Status : Not Answered
Chosen Option : --

as fira arfer 1993 & 1998 o fafiss yer & gufgwr agar &
3G & G B
gufear argat $ Ten (1000 )

9 1993 | 1994 [1995 |1996  |1997 | 1998

YUhlY
A 36 34 40 35 37.5 40
B 20 22 25 23 19.5 18
C 14 22 16 25 29 35
D 60 62 67.5 75 76 80
E 40 45 48 50 80 105
F 45 52 55 60 57.5 56
el 215 237 2515 |268 299.5 |334
1996 &1 et # 1998 # Wl YR & guigan amgell & el Sculge
# forcel gfarid 1 9efar g (Fseaa i o quiifsd)?

Ans @1 25%
X2 27%
<3 26%
X 4. 24%

Question ID : 26433079786
Status : Not Answered
Chosen Option : --




Q.5 A UM T9YG SHRTe W B BT AT HT 6T 81 A 8 IR Hodl 8, 9afb B 6 IR ]
AfHT A GRT 7 Bl & a9 B T8 g3t S1p agt 8 S B gRT5 Bl A a9 B A 21 A R B
Pt Trat F F ST I B

Ans X 1.32:24

X 2.28:36

< 3.30:56

& 4.20:21

Question ID : 26433091931
Status : Answered
Chosen Option : 3

Q.6 T sin Y = x &, @ cos 2Y (ST 0 < Y < 90°) T HI FT §RII?
Ans X 1.2x

X 2. (V2-1)x

X 3.1-2x

o 4. 1-2x2

Question ID : 264330105905
Status : Answered
Chosen Option : 4

Q7 B, &7 0 7% g7 @7 = ¥1 IR P g7 W wE g ¥ AT LAOP = 110°%, & LOBP = AT T AR
Ans 4 BEo

X2 500

X3 650

X4 60°

Question ID : 26433075020
Status : Answered
Chosen Option : 1

Q8 (a+b)2-(a—b)2HTAF ATE?
Ans X 1.8ab

« 2. 4ab

X 3.2(a%+b?)

2 4.4(a% + b?)

Question ID : 264330105933
Status : Answered
Chosen Option : 2

Q.9 TP GHMER 7% BT IR BUST I BT FAFIUA a1 81 AfehT Iad & a8 1 Hiex da1s &
TTeTd Wb el BT START HIP 24% ATH YT HHTT &1 1 Hiey P Tpa & &M IR 98 59
aTE BT el SUURT X TET 272

Ans X 1.93cm
& 2.76 cm
& 3.75¢cm
& 4.31cm

Question ID : 26433063699
Status : Not Answered
Chosen Option : --




Q.10 A & 77 arferept 5 At e A WRS! FI HE@m B et 21

A | FHALH
A 40
B 30
C 120
D 150
E 50

B ® TIR®! $1 HB F1, D T RS Bt TS I 3UTd T 82
Ans X 1.3:1
X 2.5:1
&3.1:5
X41:4

Question ID : 264330105735
Status : Answered
Chosen Option : 3

QN gy IR 1 BT 4T ARAIGE TR € S 9m? + n? = 40 T ma =4 €, G 3m + n T A &4 T2

Ans X 1.64
& 2.8
< 3.160
X 4.10

Question ID : 26433062677
Status : Answered
Chosen Option : 2

Q.12 Tw fayor & g SR Uit FT SrguTa HH: 5 : 3 ¥ 7 ltex U A W gy 1 U @

ST 1 : 2 B o g | Fysror & gor &Y | wra Sifere)
Ans X 1.3

X 2.7 R
X 3.10deR
o 4. 5T

Question ID : 26433065081
Status : Answered
Chosen Option : 4




Q13 & o8 ferer e 7 & R seuE B shEET ¥ SeuEe # el ¥

g AT ST fadex feE=w
z 15 18 12 19
¥ 18 13 17 8
X 14 17 19 16
w 12 14 11 15

Y T Fel UG, Z F Pl Seqae H1 Fhae gfaee §?

Ans 1 87.5%
X 2. 88.5%
X3 114.28%

X 4. 89.5%

Question ID : 26433082518
Status : Answered
Chosen Option : 1

Q.14 Tfg A + B = C §, dl tan A tan B tan C ST | &1 g2

Ans X 1.tanA-tanB-tanC
X 2.tanC+tanA+tanB
X 3.tanC+tanA-tanB
o 4.tanC-tanA-tanB

Question ID : 26433071228
Status : Answered
Chosen Option : 4

Q.15 i I@aif 105, 335 3MR 465 T HEWH AU D (HCF) FId BH |

Ans X 1.11
X 23
X 3.7
L4.5

Question ID : 26433075087
Status : Answered
Chosen Option : 4




Q16 2 o afemr v worew # 2015 F s T & e ¥ faftew AT & el & e qo
AT FHAET FF FEAT AT £ 9 Teea oisd arer 7 ATt & st #r T g & A
F 3T Fifew 3R A & wa F7 osR dfEw

=R faeees Etcicory fesbr wfafafer TRE
= Bl [ oig | afEe g TE | aEe g TE | wafAe T o
2015 80 0 35 0 50 0 73 0
2016 63 21 26 16 46 20 34 23
2017 78 28 15 5 38 15 48 29
2018 42 39 20 38 34 o] 14 12
2019 67 44 14 24 22 30 21 30

T 2019 # TS F FETT AWHERT H For FEAwr Freet 2
Ans X 1.83

< 2.110

< 3.193

o 4.27

Question ID : 26433082689
Status : Answered
Chosen Option : 4

QA7 aapcH peiR QWA AB 3N Bc RUY WE & pQ I ACE| BT [ AB - 26, PQ = 7 2R AC = 10,7
AP BT HF I S0

Ans X 1.16.4
X271
& 3.7.8
X 4.18.2

Question ID : 26433074734
Status : Not Answered
Chosen Option : --

Q.18 T Tt TP B BT R= Bed &1 Afp $o Al 1¢ 379 @ IR &1 Big F T
wTa 81 39 vy, Wt 1 40 fa & 1 8) wean o, 9% 50 fo= A qRT goml BT
& §A & fhaa R a1e IR et #1d Sigwr T A2

Ans X 1.20
&2 25
X 3.35
X 4. 30

Question ID : 26433075205
Status : Not Answered
Chosen Option : --

Q.19 ue i Twamafy §, ve A 5% arife AR e $1 @R A W@ Bt 2 T AT @)
Tfe It & AR It & erafy A wd &Y 5 T 8 Wit |, o STt o) A el

Ans X 1,10 yfaza
< 2. 18 Ufo=ra
« 3. 20 Tl
< 4. 16 Ufo=a

Question ID : 26433082926
Status : Answered
Chosen Option : 3




Q.20 20% P} HigdT aTdl Hy SO, F 100 ml T P 50% Tig x ml Yo & 1Y 9 9% foaman
SITeT @ 19 s FAI%9T (net mixture) 30% Tig 811 x ST HIF WA BT

Ans 7 1.50ml
75 2.60 ml
/< 3.80ml
< 4. 70 ml

Question ID : 26433071299
Status : Answered
Chosen Option : 3

Q.21 am%mmﬁ,wmmwmmmms%mm%
1480 Well & IgHA A ElaT 81 STA 1T Hal Bt ot T fpa-il 82 (IR guf e

qP FId PIfomg)

Ans X 1.1800
< 2.2800
/< 3.1846
& 4. 2846

Question ID : 26433074983
Status : Not Answered
Chosen Option : --

Q.22 TP AR U axg it B 57 God A 15% AP W 3HfHd Har § 3R Awe YaH &
fR1T 5% @t ge a1 81 SWBT AT wfar=ra fbam ghm?

Ans X 1.7.25%
X 2.10.25%
X 3.11.25%
 4.9.25%

Question ID : 26433074989
Status : Answered
Chosen Option : 4

Q.23 foredft = BT 221 A FIHTRT $I IR B 30 3§41 21 afe W T@m &Y 13 A fawnfora
oo wiTE, @) Aurd 9 FifeEI

Ans 1.4
< 2.1
< 3.3
K42

Question ID : 26433074451
Status : Answered
Chosen Option : 1

Q.24 7 9.+, Frear arat 7 g T o H T SR g€ @1 T 71 §9 i g9l & 9R) SR U@
YT HAHR ST 7T § 1 4T TS a1 32

Ans X 1.7+14p 9l
X 2.21p+ 1495
X 3.42+7p 0
o 4,42+ 14p T A,

Question ID : 264330105862
Status : Answered
Chosen Option : 4




Ans 1.2
X 26
< 3.8
X 4.4

Q.2 Ui x = 8(sin 8 + cos B) Gﬁ'\’y = 9(sin 8 — cos 0) %,?ﬁ:—z+-§—z &1 HF F1 A7

Question ID : 26433066261
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.
Bulk

Ans 7 1. Handful

2 2. Brunt

/< 3. Staple

& 4. Heavy

Question ID : 26433060690
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate ANTONYM of the given word.
Loyal

Ans X 1. Ardent

«” 2. Fickle

X 3. Stupid

< 4. Tragic

Question ID : 26433060697
Status : Answered
Chosen Option : 4

Q.3 Select the correct active form of the given sentence.
A terrible disaster was witnessed by our country.

Ans X 1. Our country had witnessed a terrible disaster.
5 2. Our country'witnesses a terrible disaster.
«” 3. Our country witnessed a terrible disaster.

< 4. Our country is witnessing a terrible disaster.

Question ID : 264330104598
Status : Answered
Chosen Option : 3




Q.4 Select the INCORRECTLY spelt word in the following sentence.
The outcome of the survey was a critical intervention to the questionaire prepared by
Suraj and his committee.

Ans & 1. questionaire
75 2. outcome
/< 3. intervention

75 4. committee

Question ID : 26433060815
Status : Answered
Chosen Option : 1

Q.5 Select the option that expresses the given sentence in active voice.

The important points were narrated in the class by the teacher.
Ans X 1.In the class, the important points were narrated.

/< 2. The teacher had narrated the important points in the class.
«” 3. The teacher narrated the important points in the class.

25 4. The teacher was narrating important points in the class.

Question ID : 26433088557
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate ANTONYM of the underlined word.

The dacoits ravaged the bungalow in the absence of its owner.
Ans X 1. Demolished
< 2. Sealed
< 3. Exploded
«” 4. Restored

Question ID : 26433070525
Status : Answered
Chosen Option : 4

Q.7 Select the option that can be used as a one-word substitute for the given group of
words.
A room where dead bodies are kept until burial

Ans X 1. Museum
«” 2. Mortuary
75 3. Safari
25 4. Sanatorium

Question ID : 26433084632
Status : Answered
Chosen Option : 2




Q.8 Select the most appropriate option to fill in the blank.

She became frustrated with her poor health and began to lose of her
recovery.

Ans X 1.money
X 2.idea

< 3. weight
«” 4. hope

Question ID : 26433089031
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate option to fill in the blank.
She frankly confessed that she couldn’t to purchase a car then.
Ans X 1.spend
o 2. afford
/< 3. tolerate
< 4.stand

Question ID : 26433089355
Status : Answered
Chosen Option : 2

Q.10 Select the sentences that contains no spelling errors.
Ans & 1. The hippopotamus, also known as ‘river horse’, lives throughout sub:Saharan Africa.

5 2. The hippoputamus, also known as ‘river horse’, lives throughout sub Saharan Africa.
/< 3. The hippopotmaus, also known as ‘river horse’, lives throughout sub Saharan Africa.

X 4.The hipopotamus, also known as ‘river horse’, lives throughout sub Saharan Africa.

Question ID : 26433070690
Status : Answered
Chosen Option : 1

Q.11 Rearrange the parts of the sentence in correct order.
In December 2018
P. caused a landslide that
Q. an eruption of the volcano Anak Krakatau
R. triggered a tsunami in the Sunda Strait (Indonesia)
S. and killed more than 400 people

Ans 7 1.QPRS
< 2. SQPR
< 3.RPQS
< 4.PRQS

Question ID : 264330104656
Status : Answered
Chosen Option : 3




Q.12 Select the most appropriate meaning of the given idiom.

Cudgel one’s brain

Ans X 1. Thinking about a debate
75 2. Not to think

& 3. To think hard

75 4. To overthink

Question ID : 26433060861
Status : Answered
Chosen Option : 1

Q.13 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

Fail to notice; ignore; condone (an offence etc.)
Ans 7 1. Overlook

25 2. Overlie

/< 3. Overlong

< 4. Overly

Question ID : 26433059782
Status : Answered
Chosen Option : 1

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

The action of damaging the good reputation of someone

Ans & 1. Defamation
/< 2. Delegate
2< 3. Defection
< 4. Degeneration

Question ID : 26433070705
Status : Answered
Chosen Option : 1

Q.15 Select the correct indirect form of the given sentence.
The blind man said to me, “Can you help me cross the road?”

Ans X 1. The blind man asked me if | could help him crossed the road.
/< 2. The blind man asked me if | can help him cross the road.
«” 3. The blind man asked me if | could help him cross the road.

< 4. The blind man asked me if | will help him cross the road.

Question ID : 264330104610
Status : Answered
Chosen Option : 3




Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She has / a habit of / spending against / her means.
Ans X 1.her means

< 2.She has

#< 3. a habit of

«” 4. spending against

Question ID : 26433088943
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate ANTONYM of the underlined word.

The natural environment is in contrast with the 'built environment' which refers to
areas that have been fundamentally transformed and influenced by human activity,
such as cities, towns, substructures and so on.

Ans ¢ 1. Bipartisan
< 2. Inimical
/< 3. Hackneyed
X 4. Interested

Question ID : 26433061566
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option to fill in the blank.

One has to be persistent in studies if he/she wants to get his/her dream job. Success
will remain unattainable if one studies .

Ans & 1. Dby fits and starts
75 2.the three R’s
#< 3. root and branch
< 4.in ups and downs

Question ID : 26433070542
Status : Answered
Chosen Option : 4

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He knows that / he has no other option / but to work hard.

Ans X 1.He knows that
«” 2. but to work hard
75 3. No error
< 4. he has no other option

Question ID : 26433086352
Status : Answered
Chosen Option : 4




Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

When | was your age, | was working two jobs to provide for my family.
Ans X 1. for provide to
25 2. on providing
«” 3. No substitution

5 4. to providing for

Question ID : 26433084576
Status : Answered
Chosen Option : 4

Comprehension:

In the given passage, some words have been left out. Read the passage carefully and select
the most appropriate option to fill in each blank.

During the pandemic, remote working has kept the work going on across (1) Almost
every industry got shut down physically during the lockdowns but the work from home model
tried to (2) the effect of the lockdown when it came to jobs. In the future also, many
businesses across the globe, including the information technology industry, are 3)
continuing with the hybrid model. Remote working has replaced geography as a major hiring
(4), with 90 per cent of senior executives expected to work from home. As a result,

76 per cent of US organisations are more likely to (5) out side the city or even state,
according to a Talent Works poll of recruiting managers conducted across the US, quoted by
an FE report.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1. Sections

< 2. Fields
< 3. Areas
«” 4. Sectors

Question ID : 26433074422
Status : Answered
Chosen Option : 4

Comprehension:

In the given passage, some words have been left out. Read the passage carefully and select
the most appropriate option to fill in each blank.

During the pandemic, remote working has kept the work going on across (1) Almost
every industry got shut down physically during the lockdowns but the work from home model
tried to (2) the effect of the lockdown when it came to jobs. In the future also, many
businesses across the globe, including the information technology industry, are 3)
continuing with the hybrid model. Remote working has replaced geography as a major hiring
(4), with 90 per cent of senior executives expected to work from home. As a result,

76 per cent of US organisations are more likely to (5) out side the city or even state,
according to a Talent Works poll of recruiting managers conducted across the US, quoted by
an FE report.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. Substantiate

« 2. Reduce
< 3. Substitute
< 4. Replenish

Question ID : 26433074423
Status : Answered
Chosen Option : 2




Comprehension:

In the given passage, some words have been left out. Read the passage carefully and select
the most appropriate option to fill in each blank.

During the pandemic, remote working has kept the work going on across (1) Almost
every industry got shut down physically during the lockdowns but the work from home model
tried to (2) the effect of the lockdown when it came to jobs. In the future also, many
businesses across the globe, including the information technology industry, are 3)
continuing with the hybrid model. Remote working has replaced geography as a major hiring
(4), with 90 per cent of senior executives expected to work from home. As a resullt,

76 per cent of US organisations are more likely to (5) out side the city or even state,
according to a Talent Works poll of recruiting managers conducted across the US, quoted by
an FE report.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans ¢ 1. Considering

< 2. Analysing
/5 3. Observing

< 4. Examining

Question ID : 26433074424
Status : Answered
Chosen Option : 1

Comprehension:

In the given passage, some words have been left out. Read the passage carefully and select
the most appropriate option to fill in each blank.

During the pandemic, remote working has kept the work going on across (1) Almost
every industry got shut down physically during the lockdowns but the work from home model
tried to (2) the effect of the lockdown when it came to jobs. In the future also, many
businesses across the globe, including the information technology industry, are 3)
continuing with the hybrid model. Remote working has replaced geography as a major hiring
(4), with 90 per cent of senior executives expected to work from home. As a result,

76 per cent of US organisations are more likely to (5) out side the city or even state,
according to a Talent Works poll of recruiting managers conducted across the US, quoted by
an FE report.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans ¢ 1. Criterion

X 2. Formula
< 3. Criteria
X 4. Standard

Question ID : 26433074425
Status : Answered
Chosen Option : 1




Q.25
Ans

Comprehension:

In the given passage, some words have been left out. Read the passage carefully and select
the most appropriate option to fill in each blank.

During the pandemic, remote working has kept the work going on across (1) Almost
every industry got shut down physically during the lockdowns but the work from home model
tried to (2) the effect of the lockdown when it came to jobs. In the future also, many
businesses across the globe, including the information technology industry, are 3)
continuing with the hybrid model. Remote working has replaced geography as a major hiring

(4), with 90 per cent of senior executives expected to work from home. As a resullt,
76 per cent of US organisations are more likely to (5) out side the city or even state,
according to a Talent Works poll of recruiting managers conducted across the US, quoted by
an FE report.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.

«” 1. Employ
X 2. Execute
/5 3. Deploy
2 4. Implement

Question ID : 26433074426

Status : Answered

Chosen Option : 2
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